0 E L=10nH - 20H C= 1pF - 10000pyF Esr=1 mOhm - 15 Ohm
10 =
20 =
30 = [EVIEVIZVISVLE m??sfazT

= ZouF Ohm 4 6 6 0

— ; 3 3 4 4 5
40 — 2 2 2 2 12 | 15 8

— 22uF) 1 13 [ 13 13 Qi'b 11

= 47uF| 1, 13 [ 13 600 7400 |

= | e 330 | 330 | 160 | 240 | 300 |

© EEhetererera e
50 = 1000uF] 190 | 140 | SO 70 80

— 2200uF] 90 70 680 50 40 mOhm

- BT
— |_4700pr) 60 )
60 — | DmmwrlsoTz METER DIAGRAM

= | CAL. L BE
70 =
80 = ..

~ IMERES (o Ki
90 % ESR uF pF-nF

= +
100 = Ic/ESR L/C
110 = :

= | Fesziiltség alatt mérni TILOS !

HHHH\‘HHH\H‘HHH\H‘H\\H\H‘\HHHH‘HHHH\‘HHH\H‘\HH
0 10 20 30 40 50 60 70

Project: ELOLAP~1.FPL [New front panel]
Dimensions: 75 x 118 mm, Magnification:

100%, Mirror: Off
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